War Communism and the New Economic Policy

Task: Go through the passage once, filling what gaps you can. When you’re stuck check your answers with Corin and Fiehn (pp. 95 – 113) and Michael Lynch (pp. 149 – 161) and fill in the remaining gaps. 

1. War Communism was principally a response to the situation created by the ………………   ………………… .

2. Under the previous system of ………………..   …………………………… control of the land had been handed to ………………………………… and control of factories had been handed to ……………………………..    ………………………………….. .

3. However, it was not working. For example:

4. Two key problems faced by Lenin were:

5. War Communism was therefore introduced in an attempt principally to meet the needs of the ……………….. .

6. There were five key features of War Communism:

· Grain ……………………………….

· Banning of …………………….  …………………….

· ……………………………………….. of industry under the control of a new body called 

……….………………. Factories were often run by ex-bourgeois managers, now called ……………………………….. . 

· Labour ………………………….

· ……………………………….. .

7. However, War Communism was not just a reaction to the Civil War. It was very much part of Lenin’s Red …………………  and a part of his campaign of ……………… ………………………… against bourgeois elements. While the Civil War was being waged against external enemies, War Communism was dubbed the ………………….. front. 

8. The effects of War Communism were dire: 

· The index of gross industrial output fell from 100 in 1913 to …….. in 1921

· Exports fell from 1,374m roubles in 1913 to ……… m roubles in 1921

· Knowing that grain was going to be requisitioned, peasants …………………………………………………………………………………………….

· Which led the government to respond by ………………………………………………………. .

· The result of this was that by 1921 one in five of the population was …………………………… . Of the 10m fatalities of the Civil War period half died as a result of …………………………. . 

9. However, within Bolshevik ranks War Communism remained a popular policy. The Party’s leading economists, …………………………….. and …………………………………….. recommended that it become the government’s official economic strategy. 

10. But one event was to light up reality for Lenin “like a …………………….. ………………” This was the ………………………….  ………………… of 1921 brutally put down by Marshall Tukhashevsky.

11. The Bolsheviks subsequently claimed that the sailors of 1917 had died in the Civil War. However, it has been shown that the vast majority of Kronstadt sailors were involved in the July Days. 

12. The outcome of Lenin’s rethink was the New Economic Policy. Marking a retreat from …………… control of the economy, it was essentially a …………… economy in which aspects of ……………………… existed alongside …………………. . Key features of NEP were:

13. Its results were in general impressive. However, progress was uneven: a collapse in agricultural prices (because so much food was reaching the cities)  and rise in the price of industrial goods (because they were still in short supply) was referred to as the ……………………….   …………………. . 

14. Within the Bolshevik Party objections to NEP were strong, in particular to a new class of profiteers called ……………………. Anticipating this and other objections, Lenin had introduced a resolution at the 10th Party Congress in 1921 entitled “On Party Unity” against ……………………………ism. 

15. At the same time all parties were outlawed – economic liberalisation was not going to be accompanied by political freedoms. Other forms of political repression included:

16. Economically NEP was a mixed success. Though industrial production recovered reasonably well, even by 1926 it had not reached 1913 levels. And it failed to expand as fast as …………………………….. . Nepmen did well, but in urban areas …..……………………… remained high. 

17. A key factor that helped maintain Bolshevik unity was Bukharin’s conversion to NEP, having formerly been a strong opponent. 

